EARAROBREBRT —5 XN—ZXBISH—F

2021498348 () 4BUMNVE7H

IV SR 3% KT Sk BRI R
[AXE%) 1 & :5,100,000  ~ 237 :2,000,000 9  33#%:1,300,000H . 43#&:770,000 ™ 5 7 :510,000
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= B3| AEKKE 2:01.0 3-3-2-2 [35.3]88.1 | 8 | 464 |iMEIEE (FH)
JYZwk a5y’ ) o) | EFEAR—ILF T2 W)
R:STU=F4 B IVRUVA/v b IR
3 3 | BN 2:01.3 5-5-6-3 |35.4| 85.0 | 7 456 | EBHEF (FFR)
J—=)LJUT e 54.0 ( 3/8) © | @ I-WRFYT - HYNZ—
RALVIAVHLYY B ITUFFFART—R =W RFZvTAVIS=—
— . . 86 N (=R
7AN/=54 [B] 43| 23 A Rl A B I - R
R:UAVF4—X B:0~II—Y— LER%
w R = 3 | BERK 2:01.3 12-11-9-7 |35.2| 85.0 | 6 | 502 |ARRES (FER)
Ly R7ARS L " 56.0 F52) © | @) A2 -V
R:ANTT—IN B:AUFYL—Y #HET7—L
" S 3 | MEERS 2:01.6 16-17-14-10{ 35.0 | 82.0 | 2 | 466 |HZILIEER (ER)
51510 /\—=YF TV v # 5.0 REY (-4) #) CHEVALATTACHE
RIN=VISA B:N\TAFvO-R bale ]
~ ) H Y 4 3 | #UEAE 2:01.9 3-3-2-3 [36.2| 78.1 | 4 502 | BIEIESR (3RER)
6715 DA ¥AT7 T 5.0 (1172 Oy | e
Ri—5—yv7F B:eFdr+e+ wE KE
N _ 4 3 | EHpf 2:02.0 11-11-16-12| 35.3 | 77.9 | 9 406 |BREHEE ER)
ZH 5 XA 39FILE 54.0 (172) *2) WAARGF I
RiFA—TITUSYTF BiXAY3vI1A =IB%in
=~ BEHZ : -11-12- a3 (FRN)
8l5|g|HIIVHTY K 53 S 2(70%15) 12-11-12-11| 35.6 | 77.9 | 13 (4+64f; oxF
R:IvITIWiRkTrwy s B:YISYN—RF— WEE
o~ = s 3 | JIBE= 2:02.1 7-7-6-7 |36.2| 76.2 | 10 | 42 |F/IEZ (FER)
911 |¥Ya—rvo3> 54.0 (3/4) “2) =i
RIN=VISA BTFITRAYIS Sl
< BB : -15-17- BAHRE (ER)
100102 *4¥amtybo [B] 43 =22 2(.10/22.)2 16-15-17-12| 35.4 | 75.9 | 14 (4_622) et
RiIN=YTS54 B:HryO0—X AT BEE
SR A N » AEXAR : -8-9- EDEE (TR
1 6| IIR—LNO—2 303 e 2(/(\)&)2 9-8-9-9 |36.1( 75.1 | 11 (5_2; zﬁ%ﬂ?x (EH)
R:AWTz—=I)N B:ITUVYFHIIR BREB s
P RS s 3 | F0HER 2:02.4 8-8-12-15 | 36.1| 73.1 | 12 | 500 |At&S# F=R)
12/ 8(18| ARAA—NZ 56.0 a 172 e |FFHER
RIIET7RA7 B:HAUT ballEre ]
S ~, - s 3 | EHEE 2:02.5 1-1-1-1 [37.1| 72.8 | 5 | 488 |APEE (W)
1317 14| XMooy #55.0 ) © |HAEFE
RIIET7RA7 8:wibv)b/\O— pEibuke
S T~ = 3 | KEFBH 2:02.8 5-5-2-6 | 37.1] 70.0 | 17 | 400 |=E@RZ RR)
1418 16| XY NYI VAT E %50.0 %)) “2) W TU—oTr—1
RiJUTURLN BYYNYIVT4R HBI7—L
~, o © 4~ IR : ~15-14- HHENE (R
s 7| 9V —=/51> [B] 303 '56.0 2(.30/24)9 15-15-14-15| 36.4 | 68.4 | 16 (4322) e (&)
R:OVI—=FFa—r B:OVI-TFUT BE B-
= s REH : -11-9- EEE— (FR)
N etz it 3 e 2.(074).1 12-11-9-12 | 38.0 | 59.0 | 3 (:1?2) e
R:TSYIIALR BRARATA—hRAE— J—YUTr—L
. R :06. -2-2- . . FERAILE (FER)
1718117l PRIT4—F R 4 3 T (25,(3?;) 2-2-2-15 | 40.9| 43.2 | 18 (4_982) B
RUTPIWAVINT N B:FPI/FIU—5Y AR T T 7— L
_ o . — bV 304 : -18-18- BKAEE (FR)
18 11| m—F—E9352 i3 56}_=0 2.?87).9 18-18-18-18| 40.1 | 31.0 | 15 (558 lﬁ%ﬁm
RINVIATawIVAUT— B TFUVEVRO—TY Y HAORS
[ BN
A 47.7-35.6
NOYF AL | 12.5-10.9-12.0-12.8-12.6-12.5-12.1-12.0-11.7-11.9
@ I1—JF—BEBIEfI
13—7F— 14,17(8,15) (3,16)1,18(6,13)5(9,12,4)7(2,10) =11
20—7F— 14-17(8,15) (3,16)1(6,13,18) (5,9,12,4) (2,7)10=11
30—7— 14(8,17,15,16) (13,3,1) (6,12,4) (9,18) (7,10)5,2=11
43— — (+14,8) (13,3,15)16(12,1)6,10,9(5,4,2) (17,7,18) =11
o ILRE
B 8 2,810 JA R 3-8 5,530 & 2-4 6,750M 3EE 3-8-13 29,490/
B B 8 7004 8-13 1,680 /B E 3-8 24,290 3EE 8-3-13 283,940/
3 350/ 3-13 1,050/ o= 8-3 37,5104
13 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




